Relations-and-Functions - Class XI

Related Questions with Solutions

Questions

Quetion: 01

Letz = {1,2,3,4}and Y = {1, 3,5, 7,9}. Which of the following is relations from
to Y -

AR ={(vy)/)y=2+z,0€ X,yeY}
B. Ry = {(1,1),(2,1),(3,3),(4,3),(5,5
C. Ry =1(1,1),(1,3),(3,5),(3,7),(5,7
D. Ry ={(1,3),(2,5),(2,4),(7,9)}
Solutions
Solution: 01
Q x={1,2,3, 4}
y={1,3,5,7, 9}

Q [5,51L Ry

While, 5 [ X

So, Ry is not a relation from X to Y.

QI[5 71€R3

While, 5 [ X

So, R3 is not a relation from X to Y.

QI7,91L Ry

While 7 [ X

So, Rq is not a relation from X to Y.

Correct Options

Answer:01
Correct Options: D



